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1.Which of the following statements is correct regarding the differences between Service Oriented 

Architecture (SOA) and Enterprise Application Integration (EAI)  

A. EAI is the next progression of a SOA. It allows applications to interact more easily.  

B. SOA solves all the problems associated with EAI.  

C. EAI solved many problems with integrating applications. SOA is the next evolutionary step.  

D. SOA allows systems to be tightly coupled eliminating the loose coupling inherent with EAI.  

Answer: C   

2.Which one of the following items is NOT a key aspect of a Service Oriented Architecture system.?  

A. Tight coupling  

B. Service Contract  

C. Reusability  

D. Statelessness  

Answer: A   

3.Second generation Web Services are characterised by which one of the following characteristics?  

A. Support for WS-* extension (or WS-* stack) web services  

B. Support for Service Oriented Layers built on first generation Web Services  

C. Support for SOA built using first generation Web Services technology  

D. None of the above  

Answer: A  


